
PROCEDURE FOR SETTING THE ALARM CARD LIMITS 
 
 

                                       
 
 
To set the lower or upper limit on the alarm card, determine the voltage for the trip level desired, from the transform formula. Then set the adjustment 
pot to half of that value, by monitoring the voltage at the wiper test point. 
 
Example: 
 Transform is 1V = 10 degC 
 Want Lower Limit to trip at 10 degC, then set the voltage at the wiper test point to 0.5V (10 deg C = 1V, divide 1V by 2, equals 0.5V). 
 Want Upper Limit to trip at 80 degC, then set the voltage at the wiper test point to 4.0V (80 deg C = 8V, divide 8V by 2, equals 4.0V). 
 
 
IMPORTANT: Before setting the lower or upper limit trip levels, make sure the alarm card does not have an upper limit fault (lower limit faults are 
OK). Try to reset the alarm card, by pressing the reset button on the appropriate interlock module. If the fault will not reset, the lower and upper 
limits can still be adjusted, but they should be readjusted again after the fault has cleared. When there is an upper limit fault, the voltage at the lower 
limit wiper test point will be 0.02V lower than normal, and the voltage at the upper limit wiper test point will be 0.2V lower than normal. 
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